NOTICE DE MONTAGE - INSTALLATION INSTRUCTIONS

aAAK Saute-vent Triumph Scrambler 1200 XC/XE

windscreen for Triumph Scrambler 1200 XC/XE

Difficulté - Difficulty 1/5
Outils nécessaires - Tools required for assembly

+ Clefs 6 pans - outillage standard « Allen keys - classic tools

Procédure - Proccess

Démonter sur la moto les deux vis du support de compteur.

Remove on the bike both screws that maintaining the speedometer.

Monter le support de saute-vent en mettant les entretoises entre le support de compteur et le support de saute-
vent.

Install the windscreen bracket by interposing the spacer between the speedometer bracket and the windscreen
bracket.

Monter le saute-vent sur son support, régler sa position en fonction de I'inclinaison de votre compteur et de la
position du phare.

Install the windscreen on its bracket, adjust its position according to the inclination of your speedometer and the
position of the headlight.

Retirer ces vis
Remove both screws —— ————

Merci d'avoir choisi les accessoires BAAK | Thank you for choosing BAAK parts
COPYRIGHT © 2021 - BAAK MOTOCYCLETTES - TOUS DROITS RESERVES | COPYRIGHT ® 2021 - BAAK MOTOCYCLETTES - ALL RIGHT RESERVED



Support 2X

Bracket Entretoise
Rondelle M5-L
Vis BHC M5x25
Saute-vent Spacer
Windscreen Washer M5-L

Screw BHC M5x25

2X

Vis BHC M5x10
Ecrou cage M5
Screw BHC M5x10
Cage nut M5

Merci d'avoir choisi les accessoires BAAK | Thank you for choosing BAAK parts
COPYRIGHT © 2021 - BAAK MOTOCYCLETTES - TOUS DROITS RESERVES | COPYRIGHT ® 2021 - BAAK MOTOCYCLETTES - ALL RIGHT RESERVED



